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三年（2017-2019）年高考真题分项汇编

专题03  形容词和副词  

一、2019年高考真题

1.【2019·江苏卷·单项填空】28.Unlike traditional gyms, app-backed gyms offer people ___________ options to exercise.

A. casual
B. regular
C. flexible
D. tight

2.【2019·新课标I卷·语法填空】It is difficult to figure out a global population of polar bears as much of the range has been  ___62___ (poor) studied; however, biologists calculate that there are about 20,000-25,000 polar bears worldwide.

3.【2019·新课标II卷·语法填空】Her years of hard work have ___63___(final)been acknowledged after a customer nominated(提名)her to be Cheshire's Woman Of The Year.

4.【2019·新课标III卷·语法填空】On our way to the house，it was raining ___61___ hard that we couldn't help wondering how long it would take to get (get)there. It was in the middle of Pearl City.

二、2018年高考真题

1.【2018·江苏】34. Despite the poor service of the hotel, the manager is _______ to invest in sufficient training for his staff.

A. keen    B. reluctant

C. anxious    D. ready
2.【2018·新课标I卷·语法填空】According to a review of evidence in a medical journal, runners live three years   61  (long) than non-runners.

3.【2018·新课标I卷··短文改错】I felt happily that their life had improved.
4.【2018·新课标II卷·语法填空】A taste for meat is ___63___ (actual) behind the change: An important part of its corn is used to feed chickens, pigs, and cattle.

4.【2018·新课标II卷·语法填空】According to the World Bank, China accounts for about 30 percent of total ___67___ (globe)fertilizer consumption.
5.【2018·新课标III卷·语法填空】He screams the___63___(loud)of all. The noise shakes the trees as the male beats his chest and charges toward me.
5.【201·浙江卷·语法填空】There could be an even   63   (high) cost on your health.
三、2017年高考真题

【2017·江苏卷】29. Only five years after Steve Jobs’ death ,smart –phones defeated _______ PCs in sales.

A. controversial         B. contradictory      
C. confidential       
D. conventional  

【2017·江苏卷】34. The disappearance of dinosaurs is not necessarily caused by astronomical incidents. But _______ explanations are hard to find.

A. alternative          B. aggressive         
C. ambiguous         D. apparent 

【2017·天津卷】3. —I want to see Mr. White. We have an appointment.

—I’m sorry, but he is not ________ at the moment, for the meeting hasn’t ended.

A. busy    B. active    C. concerned   D. available
 2016年高考真题

1.【2016·江苏】31.His comprehensive surveys have provided the most__________statements of how, and on what basis, data are collected.
A. explicit
B.
ambiguous
C.
original
D.
arbitrary
2.【2016·江苏】31.His comprehensive surveys have provided the most__________statements of how, and on what basis, data are collected.

A. explicit
B.
ambiguous
C.
original
D.
arbitrary
3.【2016·浙江】16. In this article , you need to back up general statements with ________ examples.

A. specific        B. permanent         C. abstract           D. universal
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